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Multiply one- dlglt numbers. wnth up to two deamal places by whole
numbers in context

o It costs £2.70 to go swimming. How much would it cost 5 people to go?

f
Paving slabs measure 1:15 m. Seven are laid end to end.
What is the total length of paving?
m
9- crisps — 37p per packet books — £2.25 each chews ~ 7p each
How much would 12 of each item cost? Give your answer in £.
crisps | £ books | £ chews | £
e Tickets for the show cost £3.62 for adults and £1.15 for children.
What is the total cost for 7 adults and 37 children? £
9 The average daily rainfall in January was 365 cm,
How much did it rain in January altogether?
Give your answer in centimetres and in metres (rounded to 3 decimal places).
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